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CLASS : 10th (Secondary) Code No. 4205
Series : Sec. M/2019
Roll No. SET : C
EEIR]
SCIENCE
(Physics, Chemistry and Life Science)
(Academic/Open)
[ Rl wd sl wremw |

[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TTT : 3 §7C | [ §% : 60

Time allowed : 3 hours | [ Maximum Marks : 60

° TV FT FX T & 5q JT-97 7 JRT §T 16 T F9T
27 &
Please make sure that the printed pages in this
question paper are 16 in number and it contains 27

questions.

» 79797 7 qlfe7 & @ G [T T8 #T T_Y T G #
5 FC-Gieasl & JET-99 97 [7d)
The Code No. and Set on the right side of the

question paper should be written by the candidate

on the front page of the answer-book.
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° ZYT JIT FH FAV [0GT J@ BT H W, JoT B HHE
ST 1G]

Before beginning to answer a question, its Serial

Number must be written.
o FTT-YRaHl & & F @Il g/ 91 T 83
Don't leave blank page/pages in your answer-book.

o FUCYRTH % JAARTT FHF o de T Al o
SFEATA & [rd ST fr@r Fav 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written

answer.

o ghereff 1T T To FIT-UF UT Sa9T @)

Candidates must write their Roll Number on the

question paper.

° ZYF g9l % GV 7 @ @ 98 GARET & 7 [ FITTH
g7 7 78 & Y # Iy 59 a9 F #HE A @@
@B TE AT A3

Before answering the question, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be

entertained after examination.
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(3) 4205/(Set : C)
A e
General Instructions :
(i) & 77 offvard &1

All questions are compulsory.

(ii) aFeGTs 97 % el [AweT frd)
Write the correct option in objective type
questions.

(iii) G FTT qIT F7 F STaE [T T ATET 81

Internal choice has been provided in long
answer type questions.

(iv) F9% J97 & ol 3G% T@HT G99 77 &

Marks of each question are indicated against it.

grs —
SECTION - A [ Marks : 20
(A fsT)

(Physics)

1. 799 75 B 9 W) G a5g &1 g a1, a8

K 1
(A) i (B) gfeqed
(C) R (D)  geFet
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(4) 4205/(Set : C)
The human eye forms the image of an object at
its :
(A) Cornea (B) Retina
(C) Iris (D) Pupil

2. /91 # @ #9-9 Y9 @ § waifte wem § ueh
T & ? 1

(A)  HES
(B) HE SEIHIES

(C) BRI ITHES

(D) EREH

Which of the following gas is found maximum in

biogas ?

(A) Methane

(B) Carbon dioxide

(C) Hydrogen sulphide
(D) Hydrogen
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(5) 4205/(Set : C)
3. I @ 59 uf"es & HR aR feufenm ¥ ? 1

Which phenomenon of light is responsible for

twinkling of stars ?

4. fogd I qur foEd 3Rl & AU oEde g d91g &
T ] R g & & 99 S § 7 1

Why are coils of an electric toaster and electric
irons made of an alloy rather than a pure

metal ?

5. Siaied dg9 @l o el € ? 989§ quie @i 2

What are the disadvantages of fossil fuel ?

Explain in brief.

6. JE TWET f% oMY 6 Q Uy & oW Sfcigsw & fFq
TR TN A o U G &l Uy 4 Q 8 2

Show how you would connect three resistors,
each of resistance 6 Q. So that the combination

has a resistance of 4 Q.
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(6) 4205/(Set : C)
7. 2 919 3 FEiT § guiie 9 w@ieeil g9 H9
o & ? 2

How the constructions of large dams cause

social and environmental problems ?

8. (a) 9 @ &Har F A & ¢ fhEr 9 @
SR (1D) &HAT B YRR i 2

What is the power of a lens ? Define one

Diopter (1D ) power of a lens.

(b) W TE II@ T B TEA Bibd F qA  FHIED
5 (0) & 797 Red 21 9@ a%] & S &l
Regfer, d=S T SPid ®I @M & SR AU 2

An object is placed between the main focus
(F) and the optical centre (O) of a convex
lens. Draw a ray diagram showing the
position, size and nature of the image

formed.

4205/(Set : C)


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

http://www.bsehonline.com/

(7) 4205/(Set : C)
9. fogd HeX ® THithd RY WiEWl o6 & qu

HERE W Hivm fEd Gl § Qe awd & O
e & 7 6

Draw labelled diagram of an electric motor.
Explain its principle and working. What is the
function of a split ring in an electric motor ?

AYAT
OR

(@) qH@A & F AREE & ¢ fET Suwen &
EGECRIERINCRINS I 2

What do you mean by earthing ? Why

should electrical appliances be earthed ?

(b) URATHT & TUHT 7T AW & ? TH GRATTH
4 yied fOEd 4 % HROT SO~ guhid & Rl
SR HifoTT aRATeReT & START faRag) 4

What is a solenoid ? Draw the magnetic
field around a current carrying solenoid.

Write down the use of a solenoid.
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(8) 4205/(Set : C)
gos - §
SECTION - B [ Marks : 19
(e fom)

(Chemistry)
10. =1 vamfe s & f9-a1 ofeRs Sl &

W2 ? 1
ZnO+ C = Zn+CO

Which reactant is oxidized in the following

chemical reaction ?
znO+ C - Zn+CO
11. 9% UG N @ A, B @ C ¥, @1 pH ®1 79
A 2, 7T 1181 IR H § HH-A1 I Serdie
I ? 1
You have three solutions A, B and C whose pH

value is 2, 7 and 11 respectively. Out of above

solutions, which solution is neutral ?

4205/(Set : C)


http://www.bsehonline.com
http://www.bsehonline.com
http://www.bsehonline.com

http://www.bsehonline.com/

(9) 4205/(Set : C)

12. & M, MCl, ¥ ac U6 FIES S 8 A
RO & 98 O M H9ed: [hE @9 & S e 7 1

(A) St (B) Al
(C) Na (D) Mg

Element M forms a Chloride with formula MCl,.
Element M would be most likely in the same

group of periodic table as :
(A) Si (B) Al
(C) Na (D) Mg
13. T STBRIell & oMY #1995 © ! % Sel
(ramate |t df) 2

What do you mean by combination reactions ?

Give one example (chemical equation).

14. 99 & TSl F TEENG G F1 © 7 sE e i
1 THED FHIBIT &) 2

What is the chemical formula of washing soda ?

Give chemical equation used in its preparation.
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(10) 4205/(Set : C)
15. gfeh Ed G 7 9 § HW q F= I W i

o7 fohd JhR | gRafid il & 7 HRel fakam) 2

In modern periodic table, how does metallic
character vary on moving down top to bottom in

a group ? Write its reasons.

16. () oigel & S & @Y AR FE W F AT
7 g% e Ay 2

What happens when metals react with

water ? Give one example.

(i) offe Tp9 F1 & ? 39 TRH B TOEND THHT
CIELY 2

What is thermit process ? Give chemical

equation of this process.

17. (i) = 9FER @1 e R 1x3=3

(a) CHjz;-CH =CH,
(b) CHs—-CH, - Br

O
() CHjz;-CH, - C-H
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(11) 4205/(Set : C)
Write the names of following compounds :
(@@ CH3;-CH =CH,
(b) CH3; -CH, - Br
0
() CH3z-CH, - H— H

(i) TIEIT & @ i R yeR a B 7
RS a6 i 1x3=3

How ethanol reacts with the following ?
Give chemical reactions.

(a) OTIHA U ST

Acidified potassium dichromate
(b) T WE H,S0,

Hot concentrated H,SO,
(c) | (Na)

Sodium (Na)

3TeE
OR

e AR B AT TSI B ORI ST B 6

Explain in detail the nomenclature of Carbon
compounds.
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(12) 4205/(Set : C)
s -9
SECTION -C [ Marks : 21
(cftr o)

(Life Science)

18. @I & T UG FANIhel bl JURYT H b qardl
q Frefh qEdl F FHT A S B wed § 1

(A)  STIHTER
(B) IEH
(C) SIehTEr
(D) HiEER

The organisms which make organic compounds
from inorganic substances using energy of sun

and in the presence of chlorophyll are called :
(A) Decomposers

(B) Producers

(C) Herbivores

(D) Carnivores
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19.

20.

4205/(Set : C)

(13) 4205/(Set
‘AR AT BH-8 fohar & 7

(A) URs®
(B) oTf®
(C) uferait

(D)l T FfEs® Sl
'Salivation' is a type of process :
(A) Voluntary

(B) Involuntary

(C) Reflex Action

(D) Reflex Action and Involuntary Both

http://www.bsehonline.com/

:0)

1

T WA iad § B A9, e Q)X el H fhad

i @ et § gRaiid & & 7

1

What percentage of solar energy captured by

green plants is converted into food energy in a

terrestrial ecosystem ?
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(14) 4205/(Set : C)

21. 9 il ¥ dgfo@ved a1 Th Sid Th G I Gt
iR H fefoe & S g ? 1

Which organism divides into many daughter

cells through multiple fission ?
22. AMG HER H 90 & &R B geq A U ad A &
1 AW 5 7 1

Name the hormone responsible for limiting the

sugar level in blood in human beings.

23. AT F G99 89 a9 IRaa ffae o Jh g
qefhal At ¥ THeEe 8 2 2

Write those changes of puberty that are common

to girls and boys.

24. T R e | 59 v R R 2 2

What is difference between pollination and

fertilization ?
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(15) 4205/(Set : C)
25. B35 H WY & Ui AIERAT B TR 2

Explain the process of response to touch in

sensitive plant.

26. 3§ HI-4 P & OV I T G99 @O a9 A
Al g gufte § 9% gl 8 ¢ 4

What are different ways in which individuals with

a particular trait may increase in population ?

27. NGt § T H Je fhg 9 Z A Sar & ? qet H
I qT G TGOl % g8 @l URhAT H aUi HiTT 6

What part of plant transports water ? Explain

the movement of water and minerals in plants.

HAYAT
OR
(i) @R Sk SRR § A o= © 7 2
What is difference between lymph and
blood ?
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(16) 4205/(Set : C)

(i) AFg H Sl qur FE SEelieaEs & uRded
g MM & IaemEe Mee EN aR]
REAI S AT i) 4

Explain the process of double circulation
with the help of schematic representation of
oxygen and carbon dioxide transport in

human beings.
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